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Bt A Sriil-python JRFfy

import pandas as pd

import jieba

from collections import Counter

jieba.load_userdict (' 74 FF By A # . txt ")

data = pd.read_excel (' J5iFit .x1sx', encoding='utf-8')

stopwords = pd.read_csv('StopwordsCN.txt', encoding='GBK', names=['stopword'], index_col=False)
stop_list = stopwords['stopword'].tolist()

stop_list.append(' ')

stop_list.remove('fR ")

stop_list.remove('3EH ')

stop_list.remove (' /4+')

data['cut'] = data['iFit§ % '] .apply(lambda x : [i for i in jieba.cut(x) if i not in stop_list])
b=[DRE, ME R, TA, ERI]

e = ["fw','wz','ss','ws', 'xjb']

def choose_keyword(i):

keyword = []
if i ==
keyword = ['JR%',' THEAR','RE W& AR, &', F&, BE ' UE"
elif i ==
keyword =
CAE 3, T, AR KE SRR ARE KRR YRR HE R
elif i ==
keyword =
D, R, Ak R E T A BRI R R R et A A ROR R,
elif i ==
keyword =
DEA CRE KRR CATE S TR BB RR RS PR
elif i ==
keyword =

[, B AR RN AN RERR BRSO RN T e R KD
return keyword
cleanword = ['fi4',  THEAR','AE" "W &', AR, B, F&",BE",'UE",
VR VR URSK E KT BT B R R R, it R,
VHRWORA, R, ASEA AR EET AL, AL, e, A ]

for i in range (1,51):

if i < 10:

dfi = dataldatal'JE5E4#'] == ('HO' + str(i))].reset_index(drop = True)
else:

dfi = dataldatal'VE/54#:'] == ('H' + str(i))].reset_index(drop = True)

df = pd.DataFrame()

dfshort = pd.DataFrame()

for k in range(0, 5):
dfilb[k]] = "'
dfi[b[k]+'short'] = '
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e = choose_keyword (k)
for j in range(0, len(dfil['cut'])):
if len(dfil['cut'][j]1)<6:
dfi[b[k]+'short'][j] = dfil'cut'][j]
for p in range(0,len(e)):
if e[p] in dfil['cut'][j]:
if dfi['cut'][j].index(e[p]l)<2:
if dfi['cut'][j].index(e[p])+3>len(dfi['cut'][j1):
dfilb[k]11[j] = dfil'cut'I[j1[:]
else:dfi[b[k]][j] = dfil'cut']J[jl[:dfi['cut'] [j].index(e[p])+3]
elif dfi['cut'][j].index(el[p])+3>len(dfil'cut']l[j1):
dfilb[k]1[j] = dfil'cut']I[j1[dfil'cut'][j].index(e[p]) - 2:]
else:dfi[b[k]1[j] = dfil'cut']1[jl[dfil['cut'][j].index(el[pl) -
2:dfi['cut'][j].index(e[p]) + 3]
# else:datal[b[k]][j] = ['']
# if b[k] not in dfi.columns.tolist():
# break
words = []
for content in dfi[b[k]]:
words.extend (content)
counter = Counter (words)
# for 1 in range(0,len(cleanword)) :
# if cleanword[1l] in counter:
# del(counter[cleanword[1]])
wordsshort = []
for contentshort in dfi[b[k]+'short']:
wordsshort.extend(contentshort)
countershort = Counter (wordsshort)
d = pd.DataFrame(countershort.most_common(20), columns=[b[k] + '#H%i7', blk] +
EREHRE D)
dfshort = pd.concat([dfshort, d], axis=1)
¢ = pd.DataFrame (counter.most_common(20),columns = [b[k]+'f{ %' ,blk]l+'H xi&#E'1)
df = pd.concat([df,c],axis=1)
if i < 10:
df.to_excel('Jf JFexcel/long/' + 'HO' + str(i) + '.xlsx', index=False)
dfshort.to_excel (' JFexcel/short/' + 'HO' + str(i) + '.xlsx', index=False)
else:
df.to_excel('JE JFexcel/long/' + 'H' + str(i) + '.xlsx',index=False)
dfshort.to_excel('Jfi jfexcel/short/' + 'H' + str(i) + '.xlsx', index=False)

Bk B 54 vFor B8 -python JE{CHY

import pandas as pd
import numpy as np

import jieba
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from snownlp import SnowNLP

jieba.load_userdict (' 4 FF #5 H . txt ')

data = pd.read_excel (' J5iFif .x1sx', encoding='utf-8')
pscore = pd.read_excel('yf j5iF 4 .x1sx',encoding = 'utf-8')
stopwords = pd.read_csv('StopwordsCN.txt', encoding='GBK', names=['stopword'], index_col=False)
stop_list = stopwords['stopword'].tolist()
stop_list.append(' ')
stop_list.remove('fR")
stop_list.remove('dEH ')
stop_list.remove (' 4')
data['cut'] = datal['iF#t 4 % '].apply(lambda x : [i for i in jieba.cut(x) if i not in stop_list])
b= ["RE&, LE', Wik, TA", EHE]
e = ["fw','wz','ss','ws', " 'xjb']
= pd.DataFrame ()
def choose_keyword(i):
keyword = []
if i ==
keyword = ['fR% ',  THAR','AE' ' A &', AR, &5 BE ' BRE ' BE
elif i ==
keyword =
DA, TR T, B, UK B AR s R WS HE L HE YRR,
elif i ==
keyword =
CRA R Mk BT, A, B, M, s R R, il A AR,
elif i ==
keyword =
SEVIRTS TR INTINE S SINET TRE SRS INE S TNE-ZORE S IRE T TREE T
elif i ==
keyword =
D R BE B EN R AN R EE RN I e R, ]

return keyword

cleanword = ['MR4'," THEAR","AE ' A&, AR, E&F", B4, HE ", HE",
VR, R AR E T A B R RE R, il R R,
CVEMOR R R AT A EEY AL, AL e ]
for i in range (1,51):
if i < 10:
dfi = dataldatal'JEE4#'] == ('HO' + str(i))].reset_index(drop = True)
# newpscore = pscorel[pscore['EX £ '] == ('A0' + str(i))]
else:
dfi = dataldatal'Jf/E 4 '] == ("H' + str(i))].reset_index(drop = True)

# newpscore
0

= pd.DataFrame()
dfshort

score

= pd.DataFrame ()
(]

shortemotion

(]

emotion

= pscore[pscore[' & X ZF']

("A' + str(i))]
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for k in range(0, 5):
classifiedemotion = []
dfi[b[k]] = '
e = choose_keyword (k)
for j in range(0, len(dfil['cut'])):
if len(dfi['cut'][j]) in range(1,6):
if k ==
shortemotion.append (SnowNLP(''.join(dfi['cut'][j])).sentiments)
else:
for p in range(0, len(e)):
if elp] in dfi['cut']l[jl:
if dfi['cut'][j].index(el[p]l) < 2:
if dfi['cut'][j].index(el[p]) + 3 > len(dfil'cut']I[jl):
dfilb[k]1[j] = dfil'cut'I[jI[:]
else:
dfilb[k]1[j] = dfil'cut'I[jl1[:dfil'cut'][j].index(e[p]) + 3]
elif dfi['cut'][j].index(e[p]l) + 3 > len(dfil['cut'][j1):
dfil[b[k]11[j] = dfil'cut'][jI1[dfil['cut'][j].index(elp]) - 2:]
else:
dfilb[k]11[j] = dfil'cut'I[j1[dfi['cut'][j].index(elp]l) -
2:dfi['cut'][j].index(e[p]) + 3]

if e[p] in cleanword:
del (dfilb[k]1[j][dfilb[k]][j].index(elpl)])
classifiedemotion.append(SnowNLP(''.join(dfi[b[k]][j])).sentiments)
emotion.append (np.mean(classifiedemotion))
for o in range(0,5):
score.append(float ((np.mean(shortemotion)*4+1)*0.2 + (emotion[o]*4+1)*0.4) )
a = np.array(score)
score = a.reshape(a.shape[0], 1).T
= pd. DataFra.me(score, columns=['R&F4", '"LEHL, "HHEEL, 'TEEL,
"N AR ]
ns = pd.concat([s, ns], axis=0)
ns = ns.reset_index()
ns['index'] = pscorel['JH 5 4 ']
ns.rename(columns = {"index": "JE 5 &£ "}, inplace=True)
ns(' i 541 = (sl igH4'] - ninCs[' REH5F42'1)) / (max(us(' 55451
min(as[' 575 4'1)) * (4.9 - 3.8) + 3.8)* 0.6 + pscorel'fli4734'1%0.4
ns("rEH/S'] = ((as["LEH2'] - ninCas['LEFL'])) / (max(ns[' L EHFLH']
min(ns['"fL & 154'1)) * (4.9 - 4.0) + 4.0)%0.6 + pscore[' I E /54 '1*0.4
ns[' & HEF 4] = ((as[' & HHF4 '] - minCas["EHEF4'1)) / (max(ns[' & HF4'])
min(ns['"Z#54'1)) * (4.9 - 4.0) + 4.0)*0.6 + pscore[' ¥ 54 '1%0.4
ns['TABES'] = ((as[' TAHE2'] - min(as[' TAHFS'D)) / (max(os[' TABEL'D)
min(ns[' TA7F4'1)) * (4.9 - 4.0) + 4.0)%0.6 + pscore[' T A 34 ']1*0.4
ns[" BN HEL'] = (s BN HEL'] - ninG@s['BHHEL'1))/ (maxCas[ ENHEL'D) -
min(ns[" &N H E'/\'])) * (4.9 - 4.0) + 4.0)*0.6 + pscore[' Y 754 '1%0.4

ns.to_excel ('Jf J5 & #4154 .x1sx',index = False)
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Fifs¢ C  ¥)J5 R 7%—python JEfE

from sklearn.metrics import mean_squared_error

import pandas as pd

owns = pd.read_excel (' Ji & 4 1%/4 .x1sx")

pscore = pd.read_excel('f j5iF 4 .x1sx',encoding = 'utf-8')

# "‘Bs5B/L, LERLS, REEL, 'TAERLY, "HHKES

print ([mean_squared_error (owns[' it %7541 ,pscore[' L4154 '1),

mean_squared_error (owns[' {7 & /54 ']1,pscore[' (L &E1F4-'1),

mean_squared_error (owns [' % #7454 '] ,pscore[' & w5 4 ']

mean_squared_error (owns[' TL4 134 '] ,pscore[' LA 54 ']
5

)
)
mean_squared_error (owns [' ) th75 '], pscore [ N HE 41D 1)

Kk D PREAT R 5 Hr—python JifR)

import pandas as pd

import jieba

from collections import Counter

jieba.load_userdict (' 74 FF By A # . txt ")

data = pd.read_excel('# X ifif.x1sx', encoding='utf-8')
pscore = pd.read_excel (' & X JF 4 .x1sx',encoding = 'utf-8')
stopwords = pd.read_csv('StopwordsCN.txt', encoding='GBK', names=['stopword'], index_col=False)
stop_list = stopwords['stopword'].tolist()
stop_list.append(' ')

stop_list.remove('fR")

stop_list.remove('3EH ')

stop_list.remove(' 1 /4')

data['cut'] = data['iFit§ % '].apply(lambda x : [i for i in jieba.cut(x) if i not in stop_list])

keyword = ['JR&',' THEAR','AE','WH &', AR, ERH B, BRE ,HE LT,
VHE TR, KT KE YRR ARE R RE Y,
X UHEBRE AR BEE s R, Rk R,
CRIET LD, AR A R, it R, ROR R,
AR AR R AL, A A RE S RE I,
AT TR R EREH . EE, PR R,
VREEME AR EM R, AR SRR R, RN, T, e R, D
wordlength = []
wordtimes = []
wordrepeat = []

for i in range (1,2):

if i < 10:
# dfi = dataldatal'JEE4#'] == ('HO' + str(i))].reset_index(drop = True)
dfi = dataldatal' ®X ##:'] == ('A0' + str(i))].reset_index(drop=True)
# newpscore = pscore[pscore['EX L '] == ('A0' + str(i))]
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else:
dfi = dataldatal'/E/5E4 '] == ('H' + str(i))].reset_index(drop = True)
# newpscore = pscore[pscore['ERX L '] == ('A' + str(i))]
for j in range(0, len(dfil['cut'l])):
a=0
b=20
words = []
for content in dfil['cut'][j]:
words.extend(content)
if content in keyword:
a=a+1
counter = Counter (words)
for value in counter.values():
if int(value) >= 3:
b=b+1
wordrepeat . append (b)
wordlength.append(len(dfi['cut'] [jI1))
wordtimes.append(a)
def wordlength_score():
wordlength_score = []
for i in range (0,len(wordlength)):
if wordlength[i] ==
wordlength_score.append(0)
elif wordlength[i] ==
wordlength_score.append(1)
elif wordlength[i] <= 3 :
wordlength_score.append(2)
elif wordlength[i] <= 5:
wordlength_score.append(3)
elif wordlength[i] <= 10:
wordlength_score.append(4)
else:
wordlength_score.append(5)
return wordlength_score
def wordtimes_score():
wordtimes_score = []
for i in range (0,len(wordtimes)):
if wordtimes[i] ==
wordtimes_score.append (1)
elif wordtimes[i] ==
wordtimes_score.append(2)
elif wordlength[i] ==
wordtimes_score.append(3)
elif wordlength[i] ==
wordtimes_score.append(4)
else:

wordtimes_score.append(5)
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return wordtimes_score

a = wordlength_score()

b = wordtimes_score()

G
d=[1]
for i in range(len(a)):

d.append (round(float ((al[i]*0.5+b[1]%0.5)*0.8*xc[i]),1))
# dfi = dataldatal'7H)E4# '] == ("HO' + str(1))].reset_index(drop = True)
dfi = dataldatal' X 4 '] == ('A0' + str(1))].reset_index(drop = True)
dfd = pd.DataFrame(d)
dfi = pd.concat([dfi,dfd],axis = 1)

wordrepeat

# print(dfi.columns)

dfi.columns = ['ZX A, W EH , FRAE" " 2HER", TR AHLESREL"]

# dfi.columns = ['JEEAFR "B H', AR, 2 HLER", ')\EE"L",'i%%ﬁ%(%’%éj\']
# dfi.to_excel ("HO1H 24 47454 .x1lsx',index = False)

dfi.to_excel ('A01A % 454 .x1sx',index = False)
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